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DEFENCE & STRATEGIC STUDIES
PAPER - I1I

This paper contains seventy five (75) objective type questions of two (2) marks each. All
questions are compulsory.

Which of the following is referred to as the predecessor to W.T.O. ?
(1) IMF (2) OPEC (3) World Bank 4) GATT

Arrange the following in the ascending chronological order and use the codes given below :
(a) Launching of India’s first ‘Landsat’ satellite.

(b) Launching of India’s first ‘Astrosat’.

(c) Ratification of the outer-space Treaty.

(d) Signing of the INF Treaty.

Codes :
1) () (0) (d), (a) (2)  (¢), (d), (a), (b)
3)  (d), (b), (c), (a) 4)  (c), (a) (d), (b)

“Cold Start” doctrine relates to which one of the following ?
(1) Pakistan (2) China (3) India (4) USA

What is a basic characteristic of a communist economy ?

(1) investment is encouraged by the promise of large profits.

(2) the role of government in the economy is restricted by law.

(3) government agencies are actively involved in production economy.
(4) entrepreneurs sell shares in their companies to the government.

Mary Kaldor (2006) argues that ‘globalization processes lie at the heart of many new wars’.
Which of the following is not an example of the increasing impact of globalization ?

(1) the presence of diaspora volunteer fighters.

(2)  the recourse of combatants to small scale guerrilla tactics

(3) the involvement of international NGOs.

(4) the role of multinational United Nations peace keeping troops.

As part of technological prowess of national defence, “C4I12SR” refers to which one of the

following ?

(1) Command, Control, Communications, Computers, Intelligence, Information,
Surveillance, Reconnaissance.

(2) Command, Centrality, Communicability, Computerization, Information, Intention,
Surveillance, Recovery.

(3) Control, Communications, Commonality, Compassion, Information, Intelligence,
Survival, Recce.
Command, Control, Centrality, Communicability, Intelligence, Initiative, Recovery.

N
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FHIE, sheld, Hefael, wHRYffafad, sefasiy, sffirfe, e
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The idea of sustainable development was firstly given by :
(1) World Development Report (2) UNDP Report
(3) Brundtland Commission (4) IMF Report

Which one of the following formulations doesn’t support “economic security” ?
(1) Access to resources.
2

(2)  Access to finance.
(3)  Access to market necessary to sustain acceptable levels of welfare and state power.
(4)

4)  Economic exploitation of the people by non-state actors.

Which one of the following is not identified as “Dual - use Technology” ?

(1) Microchip technology (2) Sensor technology

(3) Laser technology (4) Small arms and light weapon technology

When did the Cyber Security discourse emerge ?
(1) 1970s (2) 1990s (3) 1960s (4) 1980s

‘Dhanush’ is the naval version of which surface-to-air missile ?
(1) Agni (2) Prithvi (3) Akash (4) Prachand

What is meant by the term ‘Cyber - crime” against any nation ?

(1) Any crime that uses computers to jeopardise or attempt to jeopardise national security.
(2) The use of computer networks to commit financial or identity fraud.
(3)  The theft of digital information.
(4)

4)  Any crime that involves computers and networks.

Who among the following thinkers defined the “defence industrial base” as “any goods,
service component or input to the national economy necessary to the security interests of the
state” ?

(1) B. Crawford (2) Barry Buzan
(3) Richard Rosecrance (4) Adam Smith

Who among the thinkers given below would you associate with the idea that “the territorial
state is vital to the Capitalist system and therefore to the operation of the world economy” ?

Peter Drucker E.P. Thompson (3) Michael Hardt (4) Peter Taylor

=
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Social engineering facilitates what type of computer fraud ?
(1) Click fraud (2) Identity theft
(3) Spoofing (4) Dictionary attacks
Which one of the following is used as a moderator in natural uranium fuelled reactors ?
(1) Iron rods (2) Natural water (3) Heavy water (4) Carbon rods
Arrange the following events in their order of occurrence and use the codes given below :
(a) Glorious revolution (b)  French revolution
() American War of independence (d) Magna Carta declaration
Codes :
) @OHDHE @ BE®E@ @ Q@O0 @ @@ b
‘Depleted Uranium’ was used in one of the following wars :
(1) Gulf War -1I (2) Iran - Iraq War
(3) Second World War (4) Falkland War
Which of the following is not seen as an advantage of cooperation between states ?
(1) Potential for arms control and unilateral restraint.
(2) Improvement of political relationships between the states.
(3) Increase economic and technological potential of the states.
(4) Marks the opportunity of states to cheat on agreements such as disarmament and arms
control deals.
Which one of the following US Presidents claimed that “democracies don’t attack each
other” ?
(1) J.F. Kennedy (2) George W. Bush (3) Jimmy Carter (4) Bill Clinton
The National Human Rights Commission is a :
(1) Constitutional body (2) Statutory body
(3)  Executive body (4) NGO
Which of the following is a treaty-based human rights mechanism ?
(1) The UN Human Rights Committee.
(2) The UN Human Rights Council.
(3) The UN Universal Periodic Review.
The UN Special Mandates.
IHIIHIH\IIH AR ; papeca
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23.  Which one of the following countries is a member of NATO alliance ?
(1) Egypt (2) Israel (3) Saudi Arabia  (4) Turkey

24. Who among the following opined in 2014 that the current global geo-strategic environment
could be described as “the time of unprecedented instability” ?
(1) Barak Obama (2) Zbignew Brzezinski
(3) M. Thatcher (4) Narendra Modi

25. The ‘Zone of Peace’ concept was first initiated by :
(1) India (2) Indonesia (3) Myanmar (4) Sri Lanka

26.  Which one of the following regions of the world is known as “boiling cauldron” ?
(1) West Asia (2) South Pacific ~ (3) Latin America (4) South Asia

27. ‘Speicher Massacre’ is related to which one of the following ?
(I) The massacre of refugees in camps by ISIS.
(2) The massacre of Jews by Germans in W.W. II
(3) The massacre by Jihadists and allied militants of military recruits from the Spiecher

base in Iraq.

(4) The massacre of Afghan persons by the Al Qaeda operatives in Afghanistan.

28. Both the ‘Bay of Pigs’ invasion of Cuba (1961) and the invasion of Panama (1989) are examples
of United States attempts to :
(1) Eliminate unfriendly governments geographically close to the United States.
(2) Cultivate good relations with Latin American nations.
(3)  Stop the drug trade.
(4) End the cold war.

29. Seeking to revive historic ties, the Indian Air Force has gifted a vintage Dakota Aircraft from
its museum to which one of the following ?
(1) The Pakistan Air Force (2) The Bangladesh Air Force
(3) The Chinese Air Force (4) The Sri Lankan Air Force

30. “Warsaw Pact Tanks Invade Budapest”, “Wall Divides Berlin” and “Liberal Czechoslovak
Government Replaced” as historical newspaper-headlines related to which one of the
following ?
(1) Mikhail Gorbachev’s introduction of the policy of Glasnost.
(2) Adolf Hitler’s efforts to promote national socialism.
(3) The Soviet Union’s acceptance of capitalism.
(4) Attempts by the Soviet Union to strengthen Communist Control.

o-ms [ HLMIATRANIN : S
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37.

The operation ‘All Clear’ in December 2003 was conducted by India in which one of the
following countries ?
(1) Bhutan (2) Nepal (3) Bangladesh (4) Myanmar
Who among the following stated that “the international system of 215t century will contain
at least six major powers - the US, Europe, China, Japan, Russia and probably India - as well
as a multiplicity of medium - sized and smaller countries ?
(1) Zbignew Brzezinski (2) Francis Fukuyama
(3) Henry Kissinger (4) David king
The most compelling development in organized crime at the beginning of the twenty-first
century is the diffusion of :
(1) The Nigerian Drug Group
(2) The SPECTRE Group
(3) Transnational Organized Crime Groups
(4) South Asian Militant Group.
Which of the following reasons for people migrating from one country to another is the most
important in today’s world ?
(1) Higher wages and better living conditions
(2) To escape persecution
(3) For better climatic conditions
(4) For religious freedom
“Hiding capabilities and biding for time” relates to the statement of which among the following
leaders ?
(1) Den Xiaoping (2) Mao Zedong (3) Xi Jinping (4) Jiang Zemin
Which one of the following countries has the closest maritime boundary with India ?
(1) Myanmar (2) Indonesia (3) Malaysia (4) Thailand
Nuclear materials with a limited supply, is monitored by which one of the following
agencies ?
(1) The Atomic Energy Commission
(2) The United Nations Division of Arms Control and Disarmament
(3) The International Atomic Energy Agency
(4) The Nuclear Power Agency
o-ms [N 10 papeca
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45.

Arrange the following weapons and naval vessels in descending chronological order :

(1) Pistols, Battleships, Stealth, Aircraft Carriers.

(2) Battleships, Stealth, Aircraft Carriers, Pistols.

(3) Battleships, Pistols, Aircraft Carriers, Stealth.

(4) Stealth Bombers, Aircraft Carriers, Pistols, Battleships.

The name of the Guerrilla forces of Ho - Chi - Minh was :

(1) Viet - Minh (2) LTTE (3) Irish Army (4) Viet-cong

Which one of the following nations was expelled from commonwealth group of nations in

2006 after a change from civil government to a military government ?

(1) Kenya (2) Myanmar (3) Tanzania (4) Fiji

International terrorism involves :

(1) attacks against a government by people or groups belonging from inside the nation’s

border.

(2) actual violence but not the threat of violence.

(3) religious persecution.

(4) violence or the threat of violence that crosses national borders to instil fear in the hearts

and minds of people for a variety of purposes.

Which one of the following is not marked as a Principle of Guerrilla warfare ?

(1) Surprise and deception (2) Offensive action

(3)  Mobility (4) Deep penetration into enemy’s front

The strategy of minimum deterrence is reversed by which one of the following ?

(1) No first use (2)  First strike (3) Second strike  (4) Point Defence

Who is presently (in 2015) the UN High Commissioner for Human Rights ?

(1) Buziba (2) Zied Ra’ad Al Hussein

(3) Jabel Ali Al Habab (4) Sheikh Rashid Bin Saeed Al Maktoum

Which US President observed that “Today China’s economic power makes US lectures about

human rights imprudent. Within a decade it will make them irrelevant. Within two decades,

it will make them laughable” ?

(1) Richard Nixon Ronald Reagon (3) J.F. Kennedy (4) Bill Clinton
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38.

39.

40.

41.

42.

43.

44.

45.

freferfaa vrel Te AT 9l Sl STeRiE 0 | FIersh AT aR Safeerd &3 :
1) fo=d, ggun, Eiey, graaes famam
(2) FEUW, Eiey, dcdaes faaH, fea
(3) g5, Toeed, dcamss faam, ey
)

(4) iey s, Hiedes fomH, fred, s

B-fa-fame &t T7fteen 991 o1 A o
(1) foga-fa= 2) TAIIAE. (3) SR et (4) foga-=m

frfafed # & forg T #l, 18- TR 9 999 TR ¥ aiadd & 99=9rq 2006 H T & TEHea
g | fremfad s foan w2

1) &= (2) THER (3) A=t (4) Twsl

SR sTahare | sfafdw ¥

(1) T i a1 % 3eR WA a1t Al ST FE! §R TWHR & (985 gaa |

(2) dTdfas fE| W= & &1 & @ad &l |

(3) fH® Icdted |

(4) fE@=n Ko =t gmant S fafve waeH & @ & foa T foam o w3 dom ' T 991 3 IR

Y i St © A < St 2

freferfaa & @ fa Tieen gsfman &1 fagia & &9 o fafeq =& foan sman @2
1) o= @ F9e (2)  SHTEE HTLAT
(3) TR (4) T & ARG H AR TR Ffaeiem

frefafed 9 9 fresh g1 =[Aaq WaGRT i THITd &l 9ere faam i ?
(1) WA (2) TIH TR (3) fegda weR (4) A T

T I (2015 H) G AR & fau S99 T STRE $iF © 2

(1) =fSEn (2) foTe T ot g&e
(3) e ST 3T g (4) 3@ RE foT 9 o HeqH

frfataa o 9 fea smfket wgdfa 7 fewoht &1 6 <1 &1 adam enfofs wifd ArafysRi & a)
H eTAfiRT % IOl i SAfgARYU fag FI &1 T 9 & iR I8 ST & St 3R < g9l &
IR 7 TreATee Bt ?

1) =2 frdm 2) IS T () S.UE. FASt (4) fom facred
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46.

47.

48.

49.

50.

51.

52.

Which one of the following is not a part of societal security perspective ?
(1) Sustainability of traditional patterns of language.
(2) Sustainability of culture and customs.
(3)  Sustainability of religious and national identity.
(4) Organisational ability of the state.
“Atoms for Peace”is related to which one of the following ?
(1) It is an international NGO that seeks to ban atomic testing.
(2) Nuclear supply is barred.
(3) The title of an Eisenhower speech which culminated into the creation of the IAEA.
(4) It seeks to promote nuclear proliferation.
India’s Nuclear Doctrine should be revamped because of the following :
(I) China’s strategic and tactical nuclear capabilities.
(2) Pakistan’s efforts for lowering the threshold of using tactical nuclear weapons at theatre
level.
(3) India’s credible nuclear force requirements vis-a-vis China and Pakistan.
(4) All of the above three reasons.
The basic assumption of nationalism is :
(1) Recognition of a nation by other states or nations.
(2) The nation as basis of political loyalty and identity.
(3)  Existence of ideological differences.
(4) National geography.
Who among the following is the only Chief of Air Staff to be given the rank of Marshal of the
Indian Air Force ?
(1) Arjan Singh (2) Subroto Mukherjee
(3) P.C. Lal (4) O.P. Mehra
The task force on border management formed to review the major issues pertaining to national
security after the Kargil war was led by :
(1) K. Subrahmanyam (2) Madhav Godbole
(3) Arjun Singh (4) Arun Singh
A system where many states are capable of completely destroying other states but none are
capable of defending themselves from such an attack, would be called a :
(1) Bipolar system (2) Multipolar system
Unit - veto system (4) Hegemonic system
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46. Trafafea § @ o0 amifas qean uReya o1 fewn =& 82
(1) 9T o SRERATA YTl ohi RO |
(2) Fepfd 3R gensl w1 RofteT |
(3) s iR T U= HT YR |

(4) TSF I GASTCHS A0l |

47. ‘‘werm wR Mg fAfafed § 9 fead defia 72
(1) I T T-FLHRI F1ST § S REm] o7 W Fiass i i w7
(2) Ty emufd eTaeg Bl
(3)  3TESIRER o wrou, freent aRud o1, .. T, i Tora1 # g8, o1 e |
(4) I8 TIYRTT TR H @61 I BT T FT |

48. 9RA & Tuehg fagia § fFefafad wR0 9 STHa-9a Redd ST =1y
(1) = I St AR qAdite s gHar |
(2) IR 1 T0TEH H OMHITaER AR STUARI o TR i IRE I ST HHT Hl Ao HH A
EEIE
(3) = IR Ifeha™ & ol H 9RA i foOvae- g T o i SATeaeaeha |
(4) W U TT HHt FHRT|

49. TSEIAN 1 SMERYT T € :
(1) o T a1 T §R Teh T il AT |
(2) Tsrifas a1 Td 989 & SR % &9 | T |
(3) SR HAwRl 1 ST |

(4) TR o |

50. freAfafad § @ ®F IRAE 91g 91 1 T1eie ¥ I THAT S § 2
(1) o7 fHg (2)  gord st
(@) dHE. o (4) S Tsw

51. SRATA g & Tva T L& 9 Fafyd Tq@ &) i GHIeT o T Tfed € garad gt aTn
Wﬁv"ﬁ'ﬂ'@ﬁ’}:
(1) . gor=roay (2) ¥ TMed
() oA fHg (4) ot fHg

52. UH Fayl fEH o T R Tl I qUd: TR w1 H e ¥, fahg #E oft 9 36 YR &
STHETT § 79T X8l 31 § 90 @ ©, I gl S
(1) fguaft sereen (2) SEYA FHEERn

(3) gfTe-diel sFeree (4) FYETE] e
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53. The concept of satellite nations was introduced by which one of the following countries ?
(1)  United States (2)  Erstwhile Soviet Union

(3) Germany (4) Great Britain

54. Match the following authors mentioned in List - I with their books mentioned in List - II by
using the given codes :

List -1 List - II

(Authors) (Name of Books)
(a) Raymond Aron (i) People, State and Fear
(b) Bernard Brodie (ii) Perception and Misperception in International Politics
(c) Barry Buzan (iii) Strategy in the Missile Age
(d) Robert Jervis (iv) The Century of Total War
Codes

@@ (b) (9 (d)
1) @) @ @) ()
) (v) @) @ 3
G @ (v) (D) ()
@ @) @@ Gv) (i)

55. The classical balance of power between the East and West was promoted by :
(1) The atomic, thermonuclear war heads and ICBMs.
(2) Abilities of the US and erstwhile USSR to oversee global politics.
(3) Combined economic, political and military power of the US and the erstwhile USSR.
(4) Entente between the US and the erstwhile Soviet Union.
56. Arrange the following Defence Ministers of India in ascending chronological order :
(I) R. Venkatraman, P.V. Narasimha Rao, Bansi Lal, Jagjivan Ram.
(2) Bansi Lal, Jagjivan Ram, R. Venkatraman, P.V. Narasimha Rao.
(3) Jagjivan Ram, P.V. Narasimha Rao, Bansi Lal, R. Venkatraman.
(4)

P.V. Narasimha Rao, Bansi Lal, Jagjivan Ram, R. Venkatraman.
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53. fr=fafed § | ford 30 & g1 SUUR U & SGURI Y& i T8 2
(1) HgH T ARt ) Yd Hifererd gu
(3) AT (4) e foed

54. TQU T el 1 TAN FA g Gt - [ § Sfeatea Fefatea st o) get - 119 3feataa 6!

qE&Tehi ohl AT HITT

it - 1 it - 11

(@ ) ( TETHRT & )
(a) TS (i) Y, TS W
(b) A FIE (i) TERE U THHRERME 9 $eHIAA Tifelfeey
() &8 A (i) TS 3 T fHEEa T
d) e Sfefw (iv) < U9 ATF 2ed ar
e :

@@ (b (9 (d)
1) @) (@) Gv) ()
() @v) (@) @) (i)
G @ (v) (@) (i)
4) @) (@@ (@v) (i)

55. T4 3R ufvem & o9 Fenfasa afe-dge & fhde gr seman fean o ?

) ORHTY], ATIINRTE gg T SR oTE. W S, gru|

) STARE 3R Yd-9,TH.TH.3TR. &I Afvash TSHIfd ht T@-T@ FHTH Hi &0l 5] |
3)  STHfHRT 3R qE- TH.TH.3TR. Hi YT A, Toifas R S vifed gy |

) TR IR yd-wifaed Jfem & o= T-gey gR |

56. 9RA @ TAfdfEd WG Sl STRIE SIEshAIER Saiedd St
(1) SR dhexHu, 91.31. TEw T, S, St T4 |
(2) SHA, SETSed M, $TR. S, .8, R 1@ |
(3) STrstted T, A gl Ud, SEiere, SR SR |
3. R @, ST, SeTsied I, AR, Jhe ol |
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57. Identify the appropriate code for Assertion (A) and Reason (R) as given below :
Assertion (A) : Rohingya Muslim Ethnic groups fled Myanmar after bloody ethnic clashes
with other ethnic groups.
Reason (R) : Aang San Suu Kyi did not supported the cause of Rohingyas adequately
because of her fear of alienation with other majority ethnic factions of
Myanmar.
Codes :
(1) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(2) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(3) (A) is true but (R) is false.
(4) (A) is false but (R) is true.
58. Match the following books given in List - I with their authors in List - I with the help of the
code mentioned below :
List - I List - II
(books) (authors)
(a) Prepare or Perish (i) Mathew John
(b) Wooing the Generals (ii) V. Longer
() Red Coats To Olive Green (iii) K.V. Krishna Rao
(d) Dragon Unravelled (iv) Renaud Egretau
Codes :
(@ (b) () (d)
V) (W) @) @ 0
@ O @ @) @)
@) () @) O )
@) () @ 0 G
59. Arrange the following events in the order of their occurrence and use the codes given
below :
(a) Seizure of power in Pakistan as direct military takeover by Gen. Ayub Khan.
(b)  Seizure of power in Pakistan as direct takeover by Gen. Pervez Musharraf.
(c) Terrorist attack on the Army School in Peshawar.
(d) Militant attack on Pakistan’s Kamra airbase.
Codes :
1) @), (b), () (d)
2) (@) (®) (@) (©
®) (9 (), (@), (b)
@) () (9, (b), (a)
o-ms [ HHHNHR AN s —




57. = fou Tu stfireRer (A) iR d@eh (R) & fau swged e &t fafea sifa
AfTRAT (A) : T T TR F WY gE RS wgdl & og AT gy Jod 9e
HAR 9§ 90 T
q&h (R): HER & 3T Jgd&a® Joldd vl § H99are o 99 % SR ST |E G & A
T &9 ¥ T & Aai 1 aHed| @l fhan)

(1) < (A) 3R (R) & € fohg (R) (A) 1 91 =0 & §
(2) T (A) 3R (R) W& ¥ 1R (R) (A) T T2 == €

(3) (A) W&l T fhg (R) Toa ®

4) (A)7od © fog (R) W&T ©

58. El - 1 ¥ fqu U f=AifRa q&aai &l Gt - I1 H 37 or@shl 9 = afvld g2 1 gerd 9 gafad
IS :
T -1 T - 11
(qeh ) (e@® )
(@) frdew o Afw (i) g S
(b) FET T S (i) ot AR
(c) S =iy ¢ siifad 1A (iti) .31, FHEOM A
d) T sTEeE (iv) e 3R
e :
(@ () (9 (d)
1) @) Gv) G ()
@ @O @) @) Qv
G) G @) @ (0
(4)  (v) (@) (@) (i)

59. freAfafaa seTsll &1 37 ufed 81 & %7 § =afed # o) 79 3T T Fe &1 7&0m &1
(a) SIA Tgd @M g YA I ey & &9 § qifeheq | w1 W el |
(b) SRS TS HINE GRI TA&T AR & &9 H it | Hal I FHos |
(c) UUmeR H AT Thel W SATdharal BH |
(d) TIFREM o T TIE T SUATGAl 1 THaT |
e :
@ (),
2 (a),
(3) (©),

()()( (&1
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60. Identify the correct code in ascending chronological order of the following Arms control
regimes :
(@) Indefinite extension of the Nuclear Non-Proliferation Treaty (NPT).
(b) Ottawa Treaty on banning Land mines.
() Comprehensive Test Ban Treaty (CIBT).
(d) Chemical Weapons Convention (CWC).
Codes :
™ ®), @) ©) (@
2) (@), () (d), (b)
() (9, @), (b), (d)
@) () () @) (©
61. Match the following Army Commanders given in the List -I with their nick-names in the
List - IT with the help of code mentioned below :
List - I List - IT
(Army Commanders) (Nick-names)
(a) Duke of Wellington (i)  Desert Fox
(b) Gen. Thomas J. Jackson (ii) Iron Duke
(c) Field Marshal Erwin Rommel (iii) Blood and Guts
(d) Gen. G. Patton (iv) Stone Wall
Codes :
(@ (b) (o) (d)
M G 0 @) @)
@ v @ @ 0
@) G Gv) @ i)
@) @ 6 @ @)
62. Choose the correct answer for Assertion (A) and Reason (R) by using the codes given
below :
Assertion (A) : American Cold Warriors embraced geopolitics as a basis for a national policy.
Reason (R) : It was aimed at confronting the Soviet Union and International Communism
by introducing politics - strategic concepts as containment, domino theory,
balance of power linkages and linchpin states.
Codes :
(1) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(2) Both (A) and (R) are true and (R) is the correct explanation of (A).
(3)  (A) is true, but (R) is false.
(4) (A) is false, but (R) is true.
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60. TrAfarEd e 0 eeensti ! STRRT ¥l ¥ o STIHR Wal Fhe Hi IgaH HIWT :
(a) THI-TUER Gy (T.RA.) *1 s1ff=a @@ & fa fawmmr|
(b) ‘Te-uEA’ W yfaey TN GaH e ||
(c) 99U Wy gfaay §fy (H.snE) |
(d) TErEfE R sifvyama (Hesey ) |

61. Gt -1 ¥ fou v fr=fafed sl swaied &l Gt - 11§ 37 309 9 = afvid %e &1 Fgea 9

W;I T - 11

(3Tt ST ) (ST )
(a) I AH dAfcTre () T T
(b) S oTAH Sl SihEd (i) STFE g
() Tice AR 3o THa (iif) TS TS TH
(d) S ST Yo (iv) I
e :

@@ (b)) (9 (d)
1 @ @ 3G ()
2) @Gv) @) @) (0
G) @@ @v) @ (i)
4) (@) @ G (i)

62. TTHATAREd %He H TAR Fd gL ATUERAT (A) 3R qeh (R) o AT Tl ST A1 =949 HIIC
AUFRYT (A): AT 3Md Fghaistl 7 T ifd & STER % T4 H YISHITG hl ST |

e (R) : ez, St fagra, wfsd-Sqem gt e iR ‘feafm’ T~ & 9 |
qSTHITqeh AR STTHRUNS ! TATHRT Hfed T IR A Arae | Al
THHT S A1

e :

1) (A) 3R (R) 1 w&t €, g (R) (A) T T =08 72 2

2) (A) 3R (R) AT &I € 3R (R) (A) T W&l ==& T

(3) (A) W& g, fog (R) e 2

(4) (A) e g, fohg (R) @& 2

AHIHLITTRA z

¢
p_\
—
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63. Match the South Asian States in List - I with their political parties in List - I with the help of
the codes given below :
List - I List - I1
(States) (Parties)

(a) Sri Lanka (i) BNP

(b) India i) MQM

(c) Pakistan (iii) UNP

(d) Bangladesh (iv) NCP

Codes :

@@ (b) (9 (d)

V) (W) ) @ 0

@ O ) (v G

@) () @ O @

@ @ O )

64. Identify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : Creation of an international forum for conflict resolution, such as League
of Nations and later the United Nations had had important implications
for International Relations.

Reason (R) : The United Nations fosters an environment of openness and legitimacy,
which helps to create reciprocity among states and promotes peaceful conflict
resolution.

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true and (R) is not the correct explanation of (A).

(3) (A) is true, but (R) is not true.

(4) (A) is not true, but (R) is true.

65. Identify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : Capitalism is a social invention, a way of organising economic life that
produces winners and losers. The central issue is who are losers under this
system, how far is this a clear security issue, what can be done to increase
security within this paradigm ?

Reason (R) : The imperatives of economic security underline that poverty and problems
of development can be seen as security issues because they may lie behind
many conflicts.

Codes :

(1) Both (A) and (R) are not correct.

(2) Both (A) and (R) are correct, but (R) is not the comprehensive explanation of (A).

(3)  (A) is correct, but (R) is not correct.

(4) (A) is not correct, but (R) is correct.
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63.

64.

65.

e fou T e =t Ferar | o - 17 U 7w 3faror v T 1 Rt - 1 H 5 e 3 wrtfas
Tl & | gHfea i

T - 1 T - 11

(=T ) (<eT)
(a) i () ST
(b) A (i) TA.FLTA
(c) TIfeRr&™ (iti) g A
d) SR (iv) TA.ELE.
e :

(@ (b) (o) (d)

1) () (@v) @) @)

2 @ @) (v) (i)

3) (v) () (@) (i)

4) @) @ @) @)

T fou T StfireRed (A) 3R Ak (R) & foT W& %2 &t TeaM HifaT

AFMURYT (A) :  TIH FHHN & fAQ T T AR a1 § g T SN ST Hl i TG 1
IR Heieli & fore wgergut fafeare 7

e (R) : T T Gerqd SR Audl & IRE o1 i Har 8 S T o e IREqfawan
H e gl © IR wifaqul 1 | Hed gure w1 S < ¢ |

e :

(1) (A) 3R (R) ST &t § 31 (R), (A) it Wt AT B |
(2) (A) IR (R) T FEl € SR (R), (A) 1 WLl =0 & 2|
(3) (A) W& E fohg (R) W&t T B

4) (A) WE T ? g (R) 92 2

T feu U tfireReT (A) 3R ®RUT (R) % folt W&t Fe i T8=M HifST

JMURYT (A): TSR 3Tl S Sl Hfed T & WeAH % 9 H Uah HISH STTRR 7, S
fosiansti ok eRAaTel &l U1 X © 1 qEA Y AE § T 39 yonelt & Sfaa s
TS ¥, T &9 ¥ I¢ fordl Tan T gRem qey ¢ iR 39 yfamm & ofier gea
H gfg & Tq T fohan < wehelt © 2

HIT (R) : 3TTfeleR HR&T T ATl A8 X@ifohd ! ¢ foh e ual fashra Haet woensii
%! &7 T qE & €9 § <@ S ohdl © HI1h 3 THS HoHl o HRUT &l T ¢ |

e :
(1) (A) 3R (R) T W&t 71t
2) (A) 3R (R) 1wt T, foreg (A) T =ATF =TT (R) T
(3) (A) T& T, fohg (R) 5t =1l 21
(A) 9 TE %, g (R) WRT €
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66. Match the following conceptualizations given in List - I with their respective propounders in
List - IT with the help of the code mentioned below :

List - I List - II
(Concepts) (Propounders)
(a) End of History (i) Graham Allison
(b)  Security Community (i) S.P. Huntington
(c) Clash of Civilizations (iii) Karl Deutsch
(d) Thucydides Trap (iv) Francis Fukuyama
Codes :

(@ (b) (o) (d)
®m @O G G G)

G) @ @) @ (i)
@) @) @ (@) (@)

67. Identify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : The USA is committed to strengthening Indian economy even if it includes
tulfilling India’s energy needs through transfer of nuclear technology and
fuel.

Reason (R) : The USA feels threatened by accelerated economic growth of China.

Codes :

(1) (A) is true, but (R) is not true.

(2)  (A) is not true, but (R) is true.

(3) Both (A) and (R) are not true.

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
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66. = 3fcarfEd e w1 e ¥ fFrefafea get - 19 U T deheddi ok =it - 11§ fSu T 37%

gfquceRl i gaferd ST :

T - 1 T - 11

(HRTITT ) ( wfearee )
(a) sfaerd =1 fd (i) TmeH Tfere
(b) X HHSH (i) TEW. efmed
(c) WIS AT THTA (iii) A A
(d) ofeeEey (iv) SifEE pgam
FE :

@@ (b) (o) (d)
® @ G 3 )
() (v) @) @) @)
G) @) @) @ ()
4) @) @ (@v) (@)

67. Trefafed sifueme (A) 3R @eh (R) & foT G& %e #1 9g=™ Hifee :

ARIEReT (A) :  HIH T SRR YR 1 referoeen i ggg w3 & fow ufag & wot & wod
TR GrENfiTent TR oA o TEAIARU o HILAH ¥ YR 1 ol STavasharsti
T FHET A B

qeh (R) : T T STHREHT = ! e T Wgfg & Taw Heqy il 2 |

(1) (A) = g fog (R) T 7 2

2) (A) &l TE € fohg (R) W& B

(3)  (A) 3R (R) T W H T

(4)  (A) 3R (R) S TE & Fobg (R) (A) 1 Tl =me e R
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68. Identify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : Globalization of production and exchange increases competition and makes
the factors of production more mobile. Governments are aware that
companies invest and establish themselves where their costs are lowest,
where appropriate workforce is available, and where the country concerned
is seen as being politically and economically stable.

Reason (R) : Investment tends to shy away from war zones and from unstable countries.

Codes :

(1) Both (A) and (R) are correct.

(2) Both (A) and (R) are not correct.

(3) (A) is correct, but (R) is not correct.

(4) (A) is not correct, but (R) is correct.

69. Match the summits in List - I with subject matter of the summits in List - II :
List - I List - II
(Summits) (Subject Matter)

(a) Johannesburg Summit, 2002 (i) Right to reproductive health

(b) Cairo Summit, 1994 (ii) Right to housing

(¢) Millennium Summit, 2000 (iii) Sustainable development

(d) Istanbul Summit, 1996 (iv) Developmental goal

Codes :

(@ (b) () (d)

O O @) @ @)

@ @ 6 () G

@) Gv) Gi) @ 0

@ O Gv) @ )

70. Identity the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : In the breakup of the British Indian empire, two successor states emerged,
one as a homeland for Muslim Indians (Pakistan), the other as a homeland
for Indians who wished to live in a multiconfessional secular republic.

Reason (R) : This basis for state creation has explained the decades-long difficulty in
resolving the Kashmir issue between India and Pakistan.

Codes :

(1) Both (A) and (R) are not correct.

(2) Both (A) and (R) are correct.

(3)  (A) is correct, but (R) is not correct.

(4) (A) is not correct, but (R) is correct.
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68.

69.

70.

feu u iR (A) IR ek (R) F AU WE F2 1 TRwH HIf9T

ARTRYT (A) . ScuTeA TS fafma o1 dveienor gfaeqet 1 agmm © iR Scared & wHeh! &l 3Tfrs
Tfasiiet ST €1 GIRRI I SHER ¢ T Fufal el faw wdt € iR gt
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Read the passage given below and answer the following questions from 71 to 75 that are
based on your understanding of the passage :

Wars between clans, tribes, ethnic groups, religious communities, and nations have
been prevalent in every era and in every civilisation because they are rooted in the identities
of people. These conflicts tend to be particularistic, in that they do not involve broader
ideological or political issues of direct interest to non-participants, although they may arouse
humanitarian concerns in outside groups. They also tend to be vicious and bloody, since
fundamental issues of identity are at stake. In addition, they tend to be lengthy; they may be
interrupted by truces or agreements but these tend to break down and the conflict is resumed.
Decisive military victory by one side in an identity civil war, on the other hand, increases the
likelihood of genocide.

Fault-line conflicts are communal conflicts between states or groups from different
civilisations. Fault-line wars are conflicts that have become violent. Such wars may occur
between states, between non-governmental groups, and between states and non-governmental
groups. Fault-line conflicts within states may involve groups which are predominantly located
in geographically distinct areas, in which case the group which does not control the
government normally fights for independence and may or may not be willing to settle for
something less than that. Within - state, fault-line conflicts may also involve groups which
are geographically intermixed, in which case continuously tense relations erupt into violence
from time to time.

Right from the dawn of civilization, wars have been prevalent between whom and why ?

(1) They have taken place predominantly amongst different groups for a piece of land and
other amenities.

(2) Local tribes use to fight terrifically to demonstrate their heroic acts during the marriage.

(3) Very often, wars have taken place between clans, tribes, ethnic groups, religious
communities and nations, because they were rooted in the identities of people.

(4) They were fought by kings to justify their cause of righteousness.

Why are these wars particularistic in nature ?

(1) that they do not involve broader ideological or political issues of direct interest.

(2) they do not involve concerns in other outside groups.

(3) they do not tend to be vicious and bloody, as issues of identity are not at stake.

(4) they may not be interrupted by truces or ceasfires or agreements.

The consequences of decisive military victory are manifested as :

(1) it increases the likelihood of genocide

(2) it enhances the possibility of civil war.

(3) it may arouse humanitarian concerns in other outside groups.
it is deep rooted in the identity of people.
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74. What are fault-line conflicts ?

1)
(2)
®3)
(4)

They are communal conflicts between states or groups from different civilisations.
Tense relations lead to violence from time to time.
It leads to violent clashes between non-governmental groups.

It leads to violence between both states and non-governmental groups.

75. Which among the following is not the feature of fault-line conflicts within the states ?

(1)
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Fault-line conflicts within states may involve groups which are predominantly located
in geographically distinct areas, and sometimes intermixed groups are involved.

The group which doesn’t control the government normally fights for independence.
It may or may not be willing to settle for something less than independence.

Fault-line conflicts don’t provide any leverage to the state, when intra-state violence
erupts between various groups.

-00o0-

o

Paper-III



74. SroqUl HEY A E ?
(1) 3 fafs geet & Tl st gugl % o greeras ged € |
(2) A g | gE-gEa W) et ¥
3) U9 IR-UIHN Rl & o feus ey el ¢ |

4y e T TH IR e W A

(
(

75. TreAfafea § 9 # wgl & i ool Fert w1 forrod @ 8 2

(1) Ui o iR Sroqol el | 99 HE WA & Fohd & S geaa: Wrifas &9 9 ok &5 §
feorg Bt €, R wofi-wheft erafiifya wge wnfa & €1

(2) I S WHR w1 i T wdt § g @A & fa aed 2
(3) UE AN ¥ F© Hf FHR FI AR HH ¥ TogF o ohdl § 1A T o Fhall T
(4) gl HEY [ R HIE ST UM TG B ¢, e fafie TRl & o= o e fEw At ¥

-00o0-

o-aus [N ;

—

Paper-III



Space For Rough Work

oans [N ;

N

Paper-III



